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That mean it will “Born No.=Dead No.” at between 2014 to

2017
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Models:
CASE 1..Malthus Model

dN/dt=r*N
e
N=NO*Exp(r*t)
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CASE 2. Modified Malthus model
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] r=a+bx+c*x"2

N=NO*Exp((a+(0.5)*bx+(1/3)*c*x"2)*t)

N=14.136.*exp((1./3.*a(3).*t.A2+1./2.*a(2).*t+a(1)).*t);
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Case 3.Logistic Model

dN/dt=rN-(r/k)*N*N

Kefst = * [ 1R

B

N=k/(1+((K/NO)-1)*exp(-r*t))

function y=popu6(a,t)

y=a(2)./(1+((a(2)./14.414)-1).*exp(-a(1).*t));

>> [a,R,j]=nlinfit(t',N','popu6’,[0.1 20])

a = 0.04926298197107 25.71586502650727

([] r=0.04926298197107; k=25.71586502650727)
SRl S M [ IEFEY 25.7158650265072
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Wang'’s Modified Logistic
Model Malthus Model
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